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Answer the following questions as directed : 1x8=8

Heate emefem Rorigs Seg we ¢

(y) 3t Qv =0 0 [y ' (Fill in the blank)
1 R = A CZI %79 FC)

() (-3, 2)liesin ___ quadrant. (Fill in the blank)
(3, 2) R ~fivaq =M=l (9TFI 979 FE)

(c) is the characteristic of a population. (Fill in the blank)
I Gio A @FEEeE | (9UZ 279 FCN)

(d)

(e)

There is a difference between (am)" and ™" . (State True or False)

(am)" @ gn" @ g ek el (e 1 et )

Bt
20% Profit on C.P. = 163% Profit on S.P. (State True or False)

G ©F 20% NS = RETYCER OoF 16%% S| (3rey a1 o @)

Census survey is free from sampling error. (State True or False)

Geatelt AT T @O | (Gier 7t Ry @)
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(g9 What is the third proportional to 9 and 27 ?

9 YR 27 K FOIF AL 52

(h) Define classification.

TR T=re T @Re

2. Answer the following questions : 2x5=10

fone emafem Seg e
(a) Blffai:8bi="2 -85 Sptc =14 -t 7S findla ek

?Iﬁa:b=2:5,b:c=4:7§?l, a : c [ s

(b) Express in the form “‘g :

0.54

= b
0.54 @E‘ YIFEE AR FE1 |

(c) The perimeter of a semicircular garden is 36 cm. Find its radius.

G SR MR ARR 20T 36 G | 7 AP B |

(d) Find the area of the triangle whose vertices are (2,3), (5,-6) and (-7,10).
T fagren crawe W s W TR 2= (2,3), (5,-6) GR (-7,10)

(e) Simplify :

LS I 3

3ﬂ.+1 i 311
33 _gu
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3. Answer the following questions : " 83x5=15
e emafem e we ¢

(a) Evaluate: (any one)

TN [ 3@t . (T @I 9 i)

(i) Iff/E:%:%/Z and abc = 1, show that x+y+z=0.

I Ja=%Yp=%c 9Rabc=13JF, W8 @A, x+y+z=0 |

, (1
(i) Find the base, if logarithm of /5 is (‘6—)

‘@7 e T, W log (/5 )9 I (%) 23|

(b)) The area of a square field is 368.64 hectares. Find its perimeter.
TS I oA CFaFe 368.64 (I | G AP /el e

(c Mohan bought a watch for 22000 and sold it for ¥ 1500 dye to some

damage. Find his loss per cent.

(2 (6 ZOTET 2000 B B 1500 Bt R seifee wret wive fg wa(0
ZERe | CIREE =1 T $© 2eats, W )

(d) Solve : |3x|>4

Al Hdl 8

3x|>4
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(e) Prove that ./ is not a rational number.
A T @ 2 9B Te7 AR |

Or /923

Solve :

: 2
2(x+l) —7(x+lj+5=0
X X

HAAGN S 2

2
2(x+—1-J —7(x+l]+5=0
X x

Answer either (a) or (b) : 5

©T M8 (a) WL (b) ¢

(@) The radius and the slant height of a right circular cone are 35 cm and

87 cm respectively. Find the volume and total surface area.

G IR = IFIE R SR el TG 35 G G7R 37 G | e
IR @ 7-=pifer el e |

(b) A hemispherical bowl of internal radius 9 cm is full of water. The water
1S to be filled in cylindrical bottles of diameter 3 cm and height 4 cm.

Find the total number of bottles required to fill the whole water of the
bowl. .

9 CLA. JFLRFE <=6 e IR ol S =ifel | 7S SoipE 3 GHfA TP
S 4 GIA. Twel-REE FER0 Gleiels @or ware 2@ | MDY S TEET o
TN &Y et Foofe @R swieR 2@, FE I
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5. Answer either (a) or (b) : S

T WS (a) W4T (b) 3

(@) A milkman mixes 32 litres of water with 168 litres of milk costing 15

per litre. At what price should he sell per litre mixture so as to make

one third profit on his outlay ?

GFE F4-Reero 32 ool @eew % 168 7o vy Mifte Face 2fS FivE 4
Awa 15 Bl | e ofe oo o niey [KiE T on mﬁmwma%@ﬂ
o (2

() How much per cent above C.P. should a shopkeeper mark his goods sO

that after allowing a discount of 20% on the M.P., he gain 25% ?

3RS SR Tie 20% RY T e (et G &) Ridr o wrmpen B2

25% e T4, f&fRe 5 [efa )

6. Write a note on the importance of statistics in business and commerce.

F-ifdrER cFE AifEReeEa 9wFred ©oR @i il @I |
Or /994!

Write a note on distrust of statistics.

AR mEer Som ul B el |
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7. In what ratio does y-axis-divides the line segment joining the points (2,7) and
(-3,4)? 5
Y57 3 SEHite (2,7) GRR (-3,4) KR 3@ @R [Roe e 2

8. 1If log x+y.~l(i0 x + logy)» find the value of [£+£J. 5

' T e y x
3t log x;y =%(logx+ logy) T, SREA (LLEJ a9 W e A |
Uhy oo
9. The diameter of a roller 120 cm long is 98 cm. If it takes 400 complete
[ revolutions to level a plot of land, determine the cost of levelling at the rate
of 50 paise per sq. metre. S
120 GIf. W6 98 G IPIRFE G @i Gwe &g T W F=0e 741 400
T AR AT | =i IROIE 50 AT 7 410 FE G-I A AN FH0e (6 F© JB
W@ P |

10. What are the various methods of collecting primary data ? Explain each of
them in brief. S
sl ey Fraed Rfen AafesfE F1 Fie ol w&fs FReFest Sneev=l |

Or /919
What are the advantages of sample survey over census SUrvey ?
Teete AR ACTE T mared swion ARl S e
20E CMST (BENG) 7 Contd.




11. (@)

(b)

(c)

Solve : 4

42x_22x+4_22x +16=0
A AL 8

42.‘( _22x+4 il 22x +16 =0

Or /924t
Find the base of an isosceles triangle whose area is 60 sg.cm and length
of one of its equal side is 13 cm.

G T fagrem cvawel 60 9. GLAL @R I Jaw 2ol o 13 @6
2, fogeion ofi fdy st |

Differentiate between questionnaire and schedule. 2
PR @ SRPIbIA Weag SA1LFy Aol Tl
Give two advantages of secondary data. ' )

RSt siffrm w2y eerten 75 R4t T

12. (@) Write a note on the advantages of diagrams in presenting statistical

data. 4

Brag 7 sfEvReiReie v CoreeR ARASFER o <o Tl @ran

Or /9%

What are the different parts of a statistical table ? Explain in brief.

ARG ARTE [fen el & /e e IR @
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(b) Prepare a blank table showing the distribution of students in a college
in a particular year according to following characteristics :

(i) Sex (B/QG)

(ii) Classes (H.S. 1st year/2nd year)

(iii) Streams (Arts/Science/Commerce) 4
@I FEEH (@I G IR DGR RGP ORIER &0 G fer FRT g
SallRIERCRISDEIGHE:

() T Qe /)
(i) I (CH-TGRT 1st year/2nd year)
i) Ret (a1 /R /)

(a) Represent the following by a histogram : S
Marks
obtained in | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Statistics
e 8 20 36 15 6
students

TSR A RBAT-GF N FCHT U SR IFE! ¢

A K
10-20|20-30|30-40|40-50 | 50-60
e 7
29
8 20 36 15 6
)l
(b) Mention three objectives of classification. 3

ENRUER o7 e S Il |
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14. Following are the heights of 40 students in centimeters. Prepare a frequency Or /=3
distribution table taking the class interval as 100-110, 110- 120 etc. Also

find — St1%+172=8 What is a cumulative frequency curve ? Mention its kind Draw an ogive

(a) the frequency density of each class (by ‘less than’ method) of the following data : 2+1+5=8

(b) percentage of students whose height is between 110 cm.—150 cm.

Weight (kg) Frequency

20 108 112 126 110 132 i 2
: 45-49 12
136 149 136 138 125 111 50-54 35
112 125 140 147 150 142 55-59 40
135+ 137 1132 L165! 11551148 S 25

65 - 69 18
147 152 163 134 148 164 70-74 3
166 140 120 137 154 160 |
130 145 129 130 . | A RSt Ba [Fe @ @ael Tee F@ New owE Bfere @ sfie

AFIFS FUOL AR QI TFA AL 3

40 T QIR Tl (FA) T el SNtz | U2 SR BoF o w5 q@egmet 07
RN oS FE@ TF TSR el 100-110, 110-120, Fejif| G=ore

| 40 - 44 8

(@) =S @ETT INTS! T | 45 - 49 12
50 - 54 35

(b) 110-150 113 THOR QARG 1o A | SEEEQ 40
60 - 64 24

120 108 112 126 110 132 65 - 69 18
136 149 136 138 125 111 70 - 74 3

112 125 140 147 150 142
135 137 132 165 155 148
147 152 163 134 148 164
166 140 120 137 154 160
130 145 129 130
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